Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

Tx 1z an algebraic term m which 7is a

and x5 a

-

Answer | Please select your correct option )

o

term, expression

coefficient, variable

Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306

variable, coefficient

mumerical, alphabet

Weade By: Wager Siddhu




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

1 2 3
00 -3
oo 0
oo 0

4

5
1
0

TWhich of the following is the pivot element in the second row of the matrx?

Answer | Please select your correct option )

o

0
1
=3 Correct Answer Solved By Hadi
usmanraj20@gmail com
03228043306
5
Weade By: Wager Siddhu




Question No : 3 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

1 3 2
“Which of the followng is true for the matn=z| 0 1 -1[ 7
oo 1

Answer | Please select your correct option )

It 15 an 1dentity matrie.
(o)

It1s n reduced echelon form.
~

Tiis in echelon form. Correct Answer Solved By Hadi
O usmanraj20@gmail.com

03228043306

Tt iz a rectangular matris.

~
Weade By: Wdager Siddhu




Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

105 5
Ifreduced echelon form of a lnear systemis (0 1 1 6| when free variable x; = 0, then which of the following 1s true for it7
o000
Answer | Please select your correct option )
& The particular solubion 15( s )
- The particular solution is[ 6,50 ) :
The particular solutionis{ 5,6, 0 . Correct Answer Solved By Hadi
- usmanraj20@gmail.com
03118043306
& The particular solutionis{ 0, 6,5) .
Weade By: Wdager Siddhu




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

5 r r .
Ifh =eju, + cyu, and a= dlzlxl +d, zzj where ¢,c,,d, and &, are scalars, then which of the followmng eptions 15 correct?

Answer | Please select your correct option )

- oy b Spanll, )

Only & Span(iy i)
-
o [Bots & b e Spanth 4.

Both & é e&;m{é 1 ) Correct Answer Solved By Hadi
e 4 T2 usmanraj20g@email.com

03228043306 -
Weade By: Wdager Siddhu




Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

If a homogeneous system Ax =0 has a trowal solution, then whach of the followmg 15 {are) the value(s) of the vector x 7

-

Answer | Please select your correct option )

o

il

0 Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306
1
2

Weade By: Wager Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

If a homogeneous system Ax = 0 has non-trinal solubion, then which of the following i true for the system?

-

Answer | Please select your correct option )

o

The systetn has at least no fee variable.

The systern has at least one free variable.

Correct Answer Solved By Hadi
usmanraj20@email com
03228043306

The systern has at least two free vaniables.

The systern has at least three free variables.

Weade By: Wager Siddhu




Question No : § of 26 Marks: 1 (Budgeted Time 1 Min) (=)

%] [-1+6x] [-1 6 -
Fr=|x|= 3 =| 3|+ x|0]| be the general solutien of Ax = &, then which of the following is parametric equation for the given sclution?
X % 0 1

Answer | Please select your correct option )

o

pEsxtiuty

x=ptiv Correct Answer Solved By Hadi
usmanraj20gemail.com
03228043306
v=p+ix
tx=pty

Weade By: Wager Siddhu




Question No : 9 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

If the equation T(x) = 0 has only the trivial solution | then which of the following is true for the near transformation T: B® — R™ 7

Answer | Please select your correct option )

T 15 one-to-one. Correct Answer Solved By Hadi
o usmanrsj20@gmail.com
03218043306
T 15 onto.
~
T iz arotation.
I
T iz areflection.
~

Weade By: Wager Siddhu




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

If linear transformation 7@ B — B is transformed into a matriz 4 , then which of the following is the order of A 7

-

Answer | Please select your correct option )

o

1oxm
mxm
MR
Corract Answer Solved By Hadi
usmanraj20@gmail.com
03228043306
xR

Weade By: Wager Siddhu




Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

¥ A=t { where A is a square matrin ) , then which of the following is the most appropriate option for A 7

-

Answer | Please select your correct option )

o

A 15 an mvertible matrix.

A 18 a smgular matroe.

A 15 a symmetnc matriz.

Correct Answer Solved By Hadi
usmanraj2(gegmail.com
03228043306

A is a scalar matrz,

Yeade By: Wager Siddhu




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

If A is an invertible matrix | then which of the following is true ?

Answer | Please select your correct option )

o

Sl
(A7) =4 Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306

- i

(ah7 ==
A

(a1l = 47t

(A7 = det(4)

Weade By: Wager Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

4 -1
A= [ ] , then which of the following is the walue of det{ 4} ¢

5. 3

-

Answer | Please select your correct option )

7
(o)

=T
o

17 Correct Answer Solved By Hadi
e usmanraj20@email.com

03118043306

11

(-. -
Weade By: Wager Siddhu




Question Mo : 14 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

If a system of equations 15 solved using the Jacobi's method | then which of the following is NOT true about the matriz M that is derived from the coefficient matriz 7

Answer | Please select your correct option )

All of 1ts entries below the diagonal must be zero
9

All of 1ts entries above the diagonal must be zero
~

It may or may not be mvertible . Correct Answer Salved By Hadi
o usmanraj20@gmail.com

03128043306

Tt iz a non-singular matrix .

~
Weade By: Wdager Siddhu




Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

5 4
If the matrx A= [3 . ] , then which of the following is the most suitable option for it 7

-

Answer | Please select your correct option )

o

It 15 not stnctly diagonally domunant.

Correct Answer Solved By Hadi
usmanraj2(gemail.com
03228043306

It 15 strctly diagonally dommeant.

It 15 not diagonally dormnant.

Tt iz diagonally dominant.

Weade By: Wager Siddhu




Question Mo : 16 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

&

IFAZ[
4

3
5] , then which of the following is the minor of entry a,, ?

Answer | Please select your correct option )

2
9

3 Correct Answer Solved By Hadi
L8] usmanraj?0@email.com

03228043306

4
I

5
~

Weade By: Wager Siddhu




Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

4

IFAZ[
&

7}
?] , then which of the following is the value of Cy 7

Answer | Please select your correct option )

5
(o)
=3 Correct Answer Solved By Hadi
(@ usmanraj20@gmail.com
03228043306
&
P
i
(-. -
Weade By: Wager Siddhu




Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

2
If the determmant of the matrz A= 1
3

O Y]
L T O B Y

the tnatriz B ?

15 =1 and the matrzr £ 15 obtamed by adding 2 tunes of the second row m the first row of the matriz 4, then which of the following 15 true about

Answer | Please select your correct option )

o

Its determunantis —1 .

Correct Answer Solved By Hadi
usmanraj2l@email.com
03228043306

Its determmant1s 1.

Its determinant can not be evaluated .

The information iz net sufficient to calculate the determinant |

Weade By: Wager Siddhu




Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min) (=)

1 2 3
If thematrr A=|0 1 2| ,then which of the followng is true about it ?
0oz

-

Answer | Please select your correct option )

o

Its determinant is 0.

Its determmant1s 1.

Its determinant is 2.

Correct Answer Solved By Hadi
usmanraj20@email com

03228043306

Its determinant is 4.

Weade By: Wager Siddhu




Question Mo : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=)

-

Faset & ={ w=(1,2) ,%,=(4,8) ] , then which of the following 1s the most appropriate option ?

Answer | Please select your correct option )

Ttis a basis of R,
(o)

It 15 Iinearly mdependent.
P

It spans R°.
P

Ttis inearly dependent. Correct Answer Salved By Hadi
Lo usmanraj20Zgmail.com 'B 5 -

03228043306
Meade By: Weacdgelr Siddhu




Marks: 2 (Budgeted Time 4 Min) (=)

-

Question No : 21 of 26

1z 4 7o-2 : Py
A= 3 i and A = 3 , then calculate the mverse of A { i esmsts .

Answer | Please click here to Add Answer |

- == A e R . R A i S R ||

|Nurmal ;”Ar\al L||12 LI B 7 O Hgg ==

YWeade By: Wedgear Siddhu




Question Mo : 22 of 26 Marks: 2 (Budgeted Time 4 Min) (=)

-

2 4 8 16
. o3 & 12
Evaluate the determinant
o0 -2 -4
oo o -3

Answer | Please click here to Add Answer |

D=ESR| 4o = [ # |6 LG | E o]
Juiarmal A [val =iz = s H‘EEEE

. YWeade By: Wedgear Siddhu




Marks: 3 (Budgeted Time 6 Min) (=)

Question No : 23 of 26
5 2 4 5 _ _ o -2 a4 -5 =
A= and B = , then calculate the mverse of A8 { fesmsts ) ; where 4 ~ = and B = i
3 7 3 =3 1 =3 4

Answer | Please click here to Add Answer |

- == A e R . R A i S R ||

i

|Nurmal

n
=
:

;”Ar\al L||12 LI B £ H‘E

YWeade By: Wedgear Siddhu




Question Mo : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=)

-

] -2 i -2
Let & be a parallelogram determmned by the vectors b= [ ] Gy —[ ] and 4,

& -2 i 1
—[ 3 9 ] Compute the area of the image of & under the mapping x — Ax .

Answer | Please click here to Add Answer |

D& eae]o o6 0a R s
Juiarmal I | =z =ie g HH%

. YWeade By: Wedgear Siddhu




Marks: 5 (Budgeted Time 10 Min) =]

-

Question No : 25 of 26

23
Find an L7 - decompostion of the matnz 4= [5 ?].

Answer | Please click here to Add Answer |

- == A e R . R A i S R ||

|Nurmal ;”Ar\al L||12 LI B 7 O Hgg ==

YWeade By: Wedgear Siddhu




Question Mo : 26 of 26 Marks: 5 (Budgeted Time 10 Min) =]

-

4 1 &
T A=|-7 5 -3|,thenfind the mnors of first row and determmant of A usmg these minors .
9 -3 3

Answer | Please click here to Add Answer |

D& eae]o o6 0a R s
Juiarmal I | =z =ie g HH%_

i

n
=
:

YWeade By: Wedgear Siddhu






